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Name - Starttime- __: E:-u t.me -

Convert to the units shown:

1. 31m= cm 11 4000 mm - m
£ 94 m - m 12 -000 :m - m
L5 30m - mm 15. | 9000 mm = cm
4. 14 m = mm 14. 8000 cm - m
3. 11cm - mm 15. | 8000 mm - cm
u. 85m - mm 16. 3000 £m = m
8 55m= m Rs. 6000 m = m
2. ES5rm=___ mm 18. | 1000 Mm=_ vm
= 5 56 mm = cm 1t 5000 m = m
10. 4°'m= cm <0. 7000 m = cm

CHALLENGE] The building of the city hall is 16 m tall. On top of the

building, there is a flagpole of 2 m. What is the distance between the

.op of the flagpole and the ground?
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